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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Ul farafaf@a # @ #ia @ a1 =9 aMAT W o A== & e gfafsar
T8l Ty g2

Which of the following metals does NOT react with Oxygen even at a high temperature?
STEAT

Ans

Kl, Zinc

TegHI=TH

=

X 7 Aluminium
TTEr

v 3 Silver



Q.2

Ans

Q.3

Ans

Q4

Hrar
<4 Lead
ST 39 AT @ 26 9¥ ©ier gl 9oA ¥ 8 99 §1¢ 3Tss ar Y 37 385
T T 3H F A & & a9 FA greil @ B T9A= 37 F74T g (TS H)?

Jeremy is 26 years younger than his father. Eight years hence his father’s age will be two
vears less than twice his age. What is Jeremy’s present age (in years)?

X 24
X, 18
x: 2
¥4 20

Ush HEI H ATH & 6 &1 He H S Yd fGAT H H Hehd HIAl g a T &
9:15 o=t fAste #r g3 fFrw fGem & gef?

A watch shows 6 p.m. where the hour hand points east. In which direction is the minute
hand facing when the time is 9.15 p.m.?

qq

1\

# 1 East
gfgroT

. South
gfegH

<3 West

v, North
el # grar 9f@g § Fifes !

Thumba in Kerala is famous because




Ans

v

TE TF e alfedeT T 2l

it is a rocket launching station.

TET = AN =TT ST gl

#<, it has several tea gardens.

X,

TET HYGTET el A GIEr g
it has backwaters and lagoons.

e vk AgdERE % 2

/<4 it has an aryuvedic centre.

QS g Hleg, HFc El—ﬁ'rlu; A ﬂ?ﬁ'@, Eﬁﬂ-'vEITERFIT T i%(’?

For dilution of a concentrated acid, we should add:

Ans

Q.6

agmfrmﬁr

_ water into the diluted acid

Tleg, 3FoT H TT=AT

_ water into the concentrated acid

W Tgol 379l H =T AT R ot & 35

_ first water into the acid and then more acid into the water

Ot H Gieg, 35T

~concentrated acid into water



37 ST FT T9F H{ A (Problem figure) THEIT B 7 ma fea (?)
SeoT TR &

Y IA

Select the option that can replace the question mark (?) in the Problem Figure.

\Y

YA
%

¥

Ans




X4
Q7w wiFe (circuit) # T foig & gy fag d& 2 C &1 3y yarfgd & gl
ofg a1 fagat & Feg fwaray 5 aree g, aF 353 =10 & & AEr e

gram:
A charge of 2 C passes from one point to the other in a circuit. If the potential difference

between the two points is 5 V, the amount of work done is:
Ans




Q.8

Ans

Q.9

Ans

Q.10

10 &

V107
0.4 Sfer

Ko 047
2.5 et

K3 257
5 S[ef

X, 51
AT F AT 12 ¢ 3N AT o 728l T s A U AT 24 &

o gEd GE w2

The HCF of two numbers is 12 and their LCM is 72. If one of the two numbers is 24, then
the other number is:

X1 70
X, 48
v3 36
<460
20 Q% AT SfcRTesRl & FAGEY §7 & U g@l & A1 FAsT = g | Oy,
SH FARISE # 10 QF o & g Sar ¢ | 3T FAged Fforry farger
gIem:
Two identical resistors of 20 Q each are connected in parallel. This combination, in turn,
is connected to a 10 £ resistor. The equivalent resistance of the combination will be:
X200
X250
v330Q
X4 109




ag uthaT § e 3 3R aIR Feey oo 3R o & A& &=
gl
1s the process in which acids and bases react to form salts and water.

GEEITIRR:]

| Hydrolysis
faega srques

#, Electrolysis
3CTHT=ATRIOT

v 3 Neutralisation
HTHIA

/4. Distillation
U e T 7 o8 39gFd Aweq ol |
T % fore frepforor @1ar & |

Fill in the blank with the most appropriate option.

Ans

Ethanol is denatured to

0 9 & T seaged 7
+'| make it unsuitable for drinking

5H WU & T H 39gad a1

/<, make it suitable as an antiseptic

0 9 & o 39geT ==

#<; make it suitable for drinking

Ans




Q.12

Ans

Q.13

Ans

Q.14

sar foemar 7 3T ==
/< 4 increase its stability
=t & ¥ Fia dr SiEn, i e T ue ST A6 g?

Which of the following pairs 1s NOT a pair of twin primes?
v 131, 133

<5 191, 193

<3 71,73

X4 11,13

T &7 66 fhadiex i ger fir a1fd & 300 Hiex T oewH Fr 24 Ths H
R FLdl g1 ¢ fohdar ofer or?

A train travelling at the speed of 66 km/h crosses a 300 m long platform in 24 seconds.
How long was the train?

160 HieT
#1160 m

240 Hrex
¥5> 240 m

140 HieT
<3 140 m

180 HIeY
74 180 m



Ans

& 7% giEa W AR Y ik g w & g3 Eumomst # & e 6@
afetgd gl

LIEGEH

e ]

WFR o s fer § 3k a7 = o & § & T gsa 9w Fee arer
ST 7 Y FAF I JNTITELTHT 21ar gl

e OTT:

B,

1. AR T eIl & FHFERT T AR 5 HAT g g
2. TIHI Bl Hlfolehl & o HI SS=T Igar 2

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

Government had put advertisements and issued advisories to public not to eat food from
the roadside, as they are unhygienic.

Assumptions:

1. Government wants to stop roadside vendors
business.

2. Government wants to increase the profit of hotel owners.



FaeT qIYROT 2 afAfea &
#<1 Only assumption 2 is implicit.
1 3R 2 g4l JEURonT daffed gl
/<, Both 1 and 2 are implicit.
T ar 1 3 7 & 2 3a=Ra 2
«'5; Neither 1 nor 2 is implicit.
Fae JEURUT 1 3dfAgd gl
4 Only assumption 1is implicit.
QIS5 gt & let &1 wATCHA Fer §7?
Which of the following 1s a bisexual flower?
]

¥ | Mustard
.

/<, Papaya
R

F 3. Cucumber
adeal

L9

Ans

K'4_ Watermelon

Q16 oo T BiiaT AT &, ForaeT 2w 3 Hiew 3 7Tes 14 Fiex 71 38 @ &g T
ST 8, 3 $T & Ty 3R o &1 S g1 U deae Selle & fore 4 Hex =ist v
T AT T BT SATAT AT g1 FEaTT ST 3915 fohcteil g1

A well of diameter 3m and depth 14 m is dug. The earth, taken out of it, has been evenly
spread all around it in the shape of a circular ring of width 4m to form an embankment.
Find the height of embankment?

Ans



X, ™M
Q17 Foth T TRATY] SSTATA 32 u g | BT DT 60 IATH HIFT H HIeT bl HEAT ohelell £7
Atomic mass of Sulphur is 32 u. The number of moles in 16 grams of Sulphur is:

HEHL HI 0.5 Alel
v 0.5 moles of Sulphur
HHT HI0.25 Aol
/5 0.25 moles of Sulphur
HeHL HM0.75 Aol
/3 0.75 moles of Sulphur
HEHL FI 1 AT
< 4 1 mole of Sulphur
QI8 =it & gdies R &1 9T Faes o fosar Jmar 872
What does the symbol R in electricity stand for?

Ans

Ans



9T

< 1. Refraction
I

?{2_ Besonance
faTer =tar (Rarefaction)

?{3, Rarefaction
giaarer
v 4 Resistance

O ues 3rgdel gUUT & Jdl g W Teh atd W IS ¥ | SHH Uidfeed FHgl I

An object is placed at the centre of curvature of a concave mirror. Ifs image is formed at:

HlRT W

/1. the focus
gehdl ohg I W

X, apoint beyond centre of curvature
gehdl &g T

3. the centre of curvature

RE R FHaT Fg & dg e fig |
v, apoint between focus and centre of curvature
Q20 e U BT AT/ YE BN & T1E 20 o3 3 T TR 20T 7 31gs7a L ¢
TE T TR 10 FFS H X, AR AT 10 FFSH G X, T FaTe, Ot afef@a 7S
e AT HE 82

A particle experiences constant acceleration for 20 s affer starting from rest. If it travels a
distance X,, in the first 10 s and distance X, in the remaining 10 s, then which of the
following is true?

Ans



Ans

Q.21

Ans

Q.22

Ans

X, X, =3X,
v X =3X,
5 X=X
2{4_ X, =2X,
3H oA H 90 H S Fled THg § F@Efed F8 g

(V6%,9), (YT, 10), (V35,8), (V12T 12)

Select the pair that does NOT belong in the following group.

(V&%,9), (VT, 10), (V5. 8), (VIZT, 12)

x,. (V64,9)

X, (V81,10)

x5 (V121,12)

v 4 (V36,8)
2017 & JFfAIT STRAT 3 39010 ‘Al e do2' FI oW Hid g2
Who is the author of the Indian English Novel ‘No Other World® published in 20177

Tger Fg

+'|. Rahul Mehta
3fFrer Rarér
&5 Amish Tripathi
GIERECIGH
/3. Nidhi Chanani
AT T
/<4 Chetan Bhagat



Q.23

Ans

Q.24

Ans

Q.25

Ans

Q.26

2016 # AfreFereia SufafFars, R vreer & v & yg o
AT Fr AEET T T U o dr f?

Which country hosted the 2016 Summer Paralympics, a major sporting event for athletes
with disabilities?
+H
1. Russia
=T
2{.2' China
CHEE)
v'3 Brazil

ST

/4 Korea
34, 51 3 68 & o. T. AT H
Find the LCM of 34, 51 and 68.

v, 204

<, 136

<3102

<4 238
SAH O Pl TF HTaeT=T & 87

Which of the following numbers is a prime number?



T H 9T A 9Tl . T 7 3iTrdia aRags & fow SFHer giar
gl

. found in blood., is responsible for oxygen transportation.
Ans ' od +
#<1. WBC
STl {&Fd hITARIT

¥ > RBC
CAlaAT

/<3 Plasma

Colcolcd

S

/4 Platelets
Q¥ Imyfae Mad ARON # T TAg § O dc@ afAd @i § S foh e S
& T H BT &
Which group in the modern periodic table contains elements that are inert gases?

g 18
v Group 18
Heg 17
<, Group 17
HHg 15
<3 Group 15
g 16
<4 Group 16

Ans

Q.28



T & Ha & S T T T HIT TTETT 8

The energy released at the end of digestion is in the form of:
HICE R |
#< kinetic energy
ISHT 34T
/<, thermal energy

THATAS FaAT

'3 chemical energy
REGSEE]
/< 4 electric energy
Q2 AMET & 3:47 T =@ H S 3N fBee F S g@wr w1 AT I FOd A F
BIET HI0T fahaaT grem?

What would be the smaller of the two angles formed by the hour hand and the minute
hand at 3:47 p.m.?
Ans ¥ 168.5°
%2 166.5°
xg_ 165°
<4 162°
Q30 2017 & o/ & FYFT T & WAEA TG & 0 A fow wfae =afFa #
g famam w1 o, O waa R et (Tedsh) & 9 & Swwar
el aT?

In 2017, which celebrity was appointed as the Goodwill Ambassador of the United
Nations in India to amplify awareness about the Sustainable Development Goals (SDGs)?

FET I
#{| Kabir Bedi

Ans

Ans



3neMes HFATS
v, Ashok Amritraj
Torrerr =a=T
/< 3 Priyanka Chopra
HIg FEree
/4. Manushi Chhillar
Q31 gfg sin x+ cos x = /2 sin x, @ tan x &1 AT FIT gEN?
Ifsinx+cosx= v(i sin x, then the value of tan x is:
Ans W V2 + 1
Xy 1
X5 V3
X4 V7 - 1
Q32 Hr & TF Bl A TH oI5 $I IR Hobd L g0 &gl 1, ‘a8 AL el
T Shallcr S92 FT 92T § 7| AT T 3H o526 & Y FT T g2

Pointing to a boy in a photograph, Neena said, “He is the son of my grandmother’s only
daughter”. How is Neena related to the boy?

a8
V| Sister
At /A G g3 /A aS
2{.2_ Aunt
AT
/< 3 Mother
aTar/ AT
& 4 Grandmother

Ans

Q.33



3T T H T80T F A HeAlhd ToAg & Farod 74T gl

BHRE
A B C D
Select the figure that does NOT belong in the following group.

R
A B C D
Ans Kl'

S
W00

Q.34 ﬁﬁﬁﬁﬁ?—rmﬁ‘?

g F B FT FHoll, TIIAR, ear=, TokeTh
Which among the following is different?

Super Tackle, Raider, Bowler, Defender
I @ BT T Fer

#<1 Super Tackle

Ans



gfaeTs

> Defender
SIATAT

3 Raider
AT

v 4 Bowler
Q35 far srar wAEM AT (Problem figure) &= & 3eax &St (Answer Figures) &

¥ & v 7 @Afga 81 39 3caxr =T (Answer Figure) $r gg=mer &1l

Problem Figure

%

Answer Figures




grEar M = problem Figure

ThegivenProblentigureis embeddeith oneof thegivenAnswerFigures.Whichis that
AnswerFigure?

Problenfigure

AnswerFigures

A B C D
Ans \,1_c
X 2A
A3 B
X4 D
Q.36

Sales of Bikes in India as oerthe Colourin



2009

25%

20%
15% 12%
10% 10%
10% 8% = 7%
n |

Blue Green Golden Brown Black silver White Red Yellow

2009- 2009 & RT H TN F AR aTgel Hr kT

Blue- &
Green- gr

Golden- Fegdm
Brown- &1
Black- shTeir
Silver- T
White- T%g
Red- =t
Yellow- drer

afg 2009 # &= 1§ Are-wElFar HF o FEAr 15,000 off, & F TT H AeT-TSTHaAT H gorar
H fraer 30 o T & Aler-asiee s= 18 62

Sales of Bikes in India as per the Colourin

- AAn



25%

20%
i 10% 10%
10% 8% %
5%
5% I 3% l I
C’=: .

Blue Green Golden Brown Black sitver White Red Vellow

If thetotalnumbef bikessoldin 2009 was 15000, howmany moreredbikesweresold
thanblackones?

ans X ;1 3,000

X 2.750
V3. 2,250
X 4. 2,300
Q¥ y  oooEEFE * X2,000 A ar fFAT R ® 3T IS FF FRENRF
UR W Tehgfe foham KX K 18 HKK fepaai X:

I 2,000 is invested attherateof20% perannutncol1npounddulf-yearly,thenthe
runounéfter 18 monthswill be:
Ans X 1. X 2,662

V5. & 3,200
X3 B 2,628

X 4 82,600
Q.38



45 fFeAEI KKK KX *sréﬁ%arx 9T T Afger 1 Fae X
FAAT K X X Safer 40 fFaidier RRKK *grs%'wm 9T
32 3 AT RRK RIANM RN B R HA IR (fFeeher ) Gadd
2

A persondriving atthespeedof 45 km/h reachesoffice 1 minuteearly while shereaches3
minuteslate if drivingat40 km/hr. What is thedistance(in km) thatsheis covering?

Ans ﬁ(1_30

Q3% g AT HF F HH B W A gg el [@weT H TI9

13, 10, 7, 4, -

Selectthe correctoptionthat-will completethe given numberseries.

13, 10,7, 4, --
Ans qu1

X 2.4
X 3.2
X 4.3

Q% R B X aifaEr © e 1o, T 3 AR T AwgEafy AR wFid afen
* qmr ot AT oE 8 @EAT T RAEr §

HAART ‘37 AR ‘T AT # O T FoT TGEAT Tohdell &7




arat odrematt #F e 28 23
gl arer ezt
HI FoT TEIT
Fqegrafey odiem & 14 12
Bl offehed AT
qeT & 91y
fercanfiiat 1 e
g&am

Fearafey ofem & 6 17
qry offehel AT
et H ST
fercanfiiat 1 e
T

arat odremstt #F urg 64 55
glel arel facarfdar

@rsmatiw

The below table gives the details of the number of students in Class 10, section A and B
who had taken mid-term and final exam.



What is the total number of students in both. section A and B?

Result Sec A Sec B
Total number of 28 23
students who failed in
both exams.
Total number of 14 12

students who failed in
mid-term but passed in

finals.

Total number of 6 17
students who passed in

mid-term but failed in

finals.

Total number of 64 55
students who passed in

both the exams.

Ans ?(1_ 292
<5 291
v3 219
x4 221

et ;i Ao AT & Emg’r’

How much does one need to add to % to obtain fi?



Ans

Q42

Ans

Q43

Ans

Q.44

18
x« 1. 20
128
X- o8
S
X3 3
2
!1‘4_ 20
250 T 56% TaHdaar gem?
56% of 250 is:
X1 112
X, 84
v'3.140
X4 56

fpdr 5 e T wWierH F FIW A, HAT clay & T Ie=idsd HIoT 30°HT 7|

afg efat 45 #Aex et off ot efay & Celew# fehcedll gt 9 ar?
From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the
tower was 45 m high, how far away from the tower was the platform positioned?
45y3 #Hiex
<1 45V3m
15v3 #Hiex
X5 15/3m
40V3 HieX

V'3 40/3m
40 #Hiex
?(4_ 40m

faafa@aa It # ¥ FiT Fr Nodearees dAar 82

Which of the following animal is not triploblastic?



Ans T

e |
F 1. Earthworm
Sforfteer

W, Jelly fish

TEHRT (Ascaris)
Ks_ Ascaris

AT (Planaria)

K'4_ Planaria

Q4 v Tz TH AT & INTT 3T A & 9T AR A A F o5 F w9
FIN T | e EH @ FY TERE

A girl introduces a man as the son of her grandfather and the brother of her maternal aunt.
How is the man related to the girl?

TS

?{1_ Brother
rar
?{'2, Father
ST/
< 3 Nephew
== /ATHAT /G%1/ AIET /15 (uncle)
¥4 Uncle
Q46 frafafle 7 & i a1 arft & gt 3T STTe o ITAT0] WEAT 7 JiE & HeJar Wy
e g

Which of the following is a correct pair according to increasing atomic number from left
to right?
Ans #1 He,H

Ans



7, Na, Ne
_“3. Be.B
<4 Ca,Cl

Q47 e T @3 us Afgar #r 3Rfas ufa &, 36 Hey &+ elay & I F

Ans

Q.48

3e=1de1 SHIUT °60 AT| 98 36 dig U ¢l ol I8 & TIaq &1 3T, 3950
IRTHE Tufa 3 307 T oo el @r #7 o) el & RraT § 3960
3iTaH Feafd &1 3eaae FioT 30° 21| g 3796 RS FPufa & fhaell o3

el 57
The angle of elevation of the top of a 36 m tall tower from the initial position of a person

on the ground was 60°. She walked away in a manner that the foot of the tower, her initial
position and the final position were all in the same straight line. The angle of elevation of

the top of the tower from her final position was 30% How much did she walk from her

initial position?
24 #Hiey
?{1_ 24 m

24+/3 HIeX

2{2' 244/3m
124/3 HleX

<3 1243 m
363 HIeX

‘.’4' 3643 m



9t 3 T Arer (mole) # fFaw 3y Aigg 7

How many molecules are present in one mole of water?

6.02 X 1026 3qorT
Ans ) 2
# 1 6.02 X 10%° molecules

7.02 X 1023 37T

/5 7.02 x 1023 molecules
8.02 x 10** 307

/3 8.02 x 1022 molecules
6.02 x 1073 3-1'UI

v 4 6.02 X 1022 molecules
Q4 AT a7 A W F HJAR FaT A Fol STl B FEAT 2

Atfhletics

Diazciplined



Boys -oI5e

Athletics -T@emsr

Girls -arsfesar
Disciplined -37genfaa

According to the given Venn diagram, the total number of students in the class is

Athletics

IDn=cplined

Ans KI_ 53
v, 55
<3 54
<4 56
Q.50



Ans

g YT TH/HUT W FER # AR 57 3R W) Faw & @ & s
YR F W Pl FHA HedreAied 87

/Y

MY Fr v TNETT FIer F 39S 7 A= (LED) &= 3c91€ 9 50% TF
B &t FT TaAT [hdT &l

JEROT:
1. 9= (LED) &rdr #r f¥fr s Tear 2
2. ST o (LED) e &r o faskar s =oehi

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

A top television company announced up to 502 discount on their new launch of LED TV,

Assumptions:

1. The sales of the LED TV may increase.
2. The company will become the top seller of the LED TV.

fark qduroT 1 seafafya 2

+' | Only assumption 1 is implicit.



Q.51

Ans

Q.52

fars qaemoT 2 mafafea g
#<, Only assumption 2 is implicit.
<3 Both 1 and 2 are implicit.
7 & JEuReT 1 H#R A & JEuReT 2 seafERa
#< 4 Neither 1 nor 2 is implicit.
AT ANT HET # I3 FFH FAST - MBI FIES, IVHHT F FAAS ARG
HFATH 1 gTer &F # g 9Rda &t 9e= Gar 7 anr

The Grande Croix Commandeur in National Merit Order — the highest civilian honor of
Ivory Coast, Africa — was recently conferred on which Indian?

aMaTerersuT aMmedt

#<, Gopalkrishna Gandhi
g HEr

?‘«"2, Narendra Modi
HeAHE g

#; Manmohan Singh
qUTE HGSA

v, Pranab Mukherjee



rafef@T § ¥ =i O 5T ffT v B3 & wgr guor gfafes & gofar 2,
= g9or MN Y@ 9T T@T 9737 2

M

N

Select the option that depicts the correct mirror image of the given figure when the mirror
is held at the MN line shown.

N
v

Q.53



o ov w7 &, 37 3R Hr T ¢ e qEadt Rea 3R seaadt

37+

SM@A#N2B40&3C5P+D2

In the given sequence, the number of letters preceded by a symbol and followed by a
number is

SM@A#N2BA40&3C5P+D2
Ans 5 1

X, 4
Xs 3
vy 2
Q.54



Te I & FA F a3t e T Fafaw oA
Problem Figure

Z

Answer Figures

i D
Choose the correct water image of the problem figure.

Problem Figure

//

Answer Figures

S

4 48

_ A

Ans W C
<> D

<3 B

C D



<4 A

Figure) & ? fREar & S9g o W)

Problem Figure

Q3 37 3caT-HFia (Answer Figure) & ITT &L A T2A-HTFHIa (Problem

0
DED

U

0
amd

U

DRD

Answer Figures

A 0 0 U
DED (DEDIDEdga|Iamc
U 0 J U

Select the Answer Figure that can replace the ? symbol in the Problem Figure.

Problem Figure

0
DED

U

0
amg

U

0

DED

U

0
al (@

U

Answer Figures

)

DED

A A U
DED|DEO|aRd




I L A
A B e D
Ans &K1 C
> D
vs3 A
X4 B
Q56 FfE secO+tanH=2, I secH—tanH="2
IfsecO+tan® =2 thensecO—-tan 6 ="
Ans ?(1_1.5
Kg_]
"_/’3_0.5
X4 0.75

7 9409 FT A Tt &2

What is the square root of 9409?
Ans X 1. 97
v, 83
<3 89
x4 87

W8 A & [ar, <A & dF I a3 &1 10 §o gl A & O #3711y, <A A
Hg ¥ 7 =1 o A B qaA HY R €2

Tom’s father is thrice as old as Tom. 10 years ago Tom’s father’s age was 7 times his age.
What is Tom’s current age?

14 a9
v 14 years

15 9§

<, 15 years

Ans



16 ay
/3 16 years
17 av
<4 17 years
Q39 2017 # sHATAS ZFH (32) ST Thed [EPR fFaal Sfar 22

Who won the Economic Times (ET) Lifetime Achievement award in 20177

JE. W JFT

| Y.C.Deveshwar
eFT Feaer

& 5 Lakshmi Mittal
eirel Peaer

/3. Sunil Mittal
gSAAIES AT HTel

Ans

/< 4 Brijmohan Lall Munjal
Q60 3@ 3137 I aA1H & STgT HUT AFTT BTl e
Name the organ where the embryo develops:

A gl

1. Ureter
Bl TId

/<, Fallopian tube
TSR

!"3, Uterus
EIEEI R G

2{4_ Cervix



Q.61

Ans

Q.62

Ans

TTEITT Fo5 A 100 T T F e sradies aifis a9 feg F 100
#fT wfee afra Rensa #F gEEe & g1 2017 # 59 aRd Bendr &
0 g H s=aan e wea §2
ESPN annually ranks 100 of the most famous active sportspersons in the world to create
the ‘ESPN World Fame 100° list. Which Indian player had the highest ranking in this list
in 20177
Tregamya 31ee
1. Viswanathan Anand
R Fee
¥, Virat Kohli
TH.TH. o=r
47(3, MS Dhoni
e A
K4, Sania Mirza
A g AN & ANAST & B F Fard AN AP A AR 9w F 5

Which union minister from the Lok Jana Shakti Party belongs to PM Narendra Modi’s
Cabinet?

. 9t #ssEr
#|. IP. Nadda

e A g
<, Radha Mohan Singh

= ey grEae
v'3 Ram Vilas Paswan




I e gag
?{4, Ravi Shankar Prasad
QO3 oo T HIE SFAE IEIF forwa fodlh g, 3 93 9 WY afofaafaes sma &
3T FIEaTasarsT &7 JoTT = &7
Who wrote the book ‘An Era of Darkness® which extensively narrates the grim realities of
colonial India?

. TE. AT
<1 V.S.Naipaul
AdeT I
#<, Chetan Bhagat
orfer o’
¥'3 Shashi Tharoor
HoTAT T9ar
?{4, Salman Rushdie
Q64 FeTrEls AR 3 ATel FEH YA BISAHAB H § T AT 3HRN Fael
fre Qor & am

One of the earliest explorers who visited India was Megasthenes. Which country did he
hail from?
EE:)
‘K'..l. Eg}'Pt
T

/<, Spain
DG

[

Ans

Ans

¥'3 Greece



Ercl)

Py, Ttaly
Q65 & 715 giea W e Y 3R a7 & & & g5 uronat & § FHa @

FHafafed &l

IfFd:

L

I¥ 2020 T HOEE §

YOI

B,

1. 2020 H ®IEdr & 29 &= &
2. 9% 2017 U Hfaw =7Er &1

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
The year 2020 is a leap vyear.

Assumptions:
1. February will have 29 days in 2020.
2. The year 2017 is not a leap year.

el TEUROT 1 Hafafed &l

#< 1 Only assumption 1 is implicit.

Ans



Q.66

Ans

Q.67

Ans

Q.68

a1 3k 7 & 2 afRa
/<5 Neither 1 nor 2 is implicit.

1 3R 2 = EuRemT FafEd g
+ 3 Both 1 and 2 are implicit.

el IURUT 2 Hafagd gl
#< 4 Only assumption 2 is implicit.
fordly w=ar & 15% &I, S5 gAY FEA F 30% H ST AT g af Tg gl
TEIT3T & AT F 24% Vel AT g1 TE ACAT, TIEN HEAT HI Jeolal 7 4
O g1 HEATC &4 82

15% of a number, when added to 30% of another, gives 24% of the sum of the two
numbers. The bigger number is 4 more than the smaller one. What are the numbers?

/<, 10, 14

<, 12, 16

v, 8, 12

<4 6,10
fordT Tw=aT FT 84%, 105 &1 TEAT A= &
84% of a number is 105. The number 1s:

A1112

<5 125

v3.120

<4 115

frfof@a # @ Fia @ sifaes s v avg @1 e a1 veraATe aifaeier fRufa

FEoTdT & TT ASoTet ol TITH HidT &7

Which of the following physical quantities changes or tends to change the state of rest or
of uniform motion of a body in a straight line?



Ans ol

v, Force
SSTATT

<5 Mass
a9

/< 3 Momentum
SS5cd

/<4 Inertia
Q69 et 3Tpicr T Tar Feme:
Find the odd figure:

Ans

~1.

<.






J=r T 1T smesEr & sewne a1 ik Aefef@T weat F 3w &

Rice production { In Crore Tonnes)
Countries 2001 2002 2003 2004 2005
India 9 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 7.9 8.6
Japan 21 226 23.2 22.2 22.9

Rice production (In crore tonnes)- Iael T 3cacT (S =T H)
Countries- &ar

India- AT

Bhutan- #cTl

Srilanka- #reTeRT

China- I=1

Japan- ST4TT

e H FIWUH @ aW I@a & 396 A FREE g 2

Study the given data and answer the question that follows.

Rice production { In Crore Tonnes)
Countries 2001 2002 2003 2004 2005
India = 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 1.9 8.6
Japan 21 22.6 23.2 222 23.9

In which year did Bhutan’s rice production decrease for the first time?



Ans  X; 2004
# 5. 2005
X3 2003
V4. 2001

Q71 faar arar g =2 (Problem figure) f&w a1v 3cax &= (Answer figures) ¥ &
T v 7 gieafed &ar s=r &1 9 3cax =@ (Answer figure) i @ 82

Problem Figure
N

Answer Figures

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Ancwer Fionres



.A B C | D
Ans KIB
Vs C
?‘(3_D
X4_A
Q72 Ay X & gfa A Y fr AT F IFala a¢ g1 T AMFdh X & a2 39k

AN Y & ofa TN A2 & ar ANAS X F1 AAS Y F Fa G99 22
Ms. X’s husband is the only son of Ms. Y’s mother. If Ms. X’s brother and Ms. Y’s

husband are cousins, then Ms. X 1s Ms. Y's
AT
Ans
# 1 Mother
JoIc / ATy /arelT /STl SaTeT

v, Sister-in-law

arly /AT [T /g3 /AT AT

X3, Aunt
dgel

X4 Sister

Q.73



e sv BT & mer g T et & & &l 872

LATERAL

Which of the options depicts the correct mirror image of the following figure?

LATERAL
s x, LARETAL

<, TABELAT
v, JAR3ITAI
=<, JAAITAL

Q.74



Ans

faT 1T gogear F T A9 & T 3R Ig 9¥ F F FT T (@) Ty
FFASE! F THEIT T Y IFTAT (FIT ) F ¢

CEGEE

331, AET AT 9 dF oaFF IF Héﬂ J ST 99 dek AT TR

IGAC AR
1. T SHT & 3H ALl o feufa § a8 et grem|
2. B AT FAAT 74T &

Consider the given statement true and decide which of the given conclusion(s) logically
follow(s) from the statement.

Statement:

Arise, awake and stop not until the goal is reached.

Conclusions:

1. A human being has to get out of his state of helplessness.
2. No individual is weak.

1 3R 2 3= argeRoT 7@ = 2

K], Neither conclusion 1 nor 2 follows.



1 3R 2 @4t s = E
v 2. Both conclusions 1 and 2 follow.

Faer fIshs 2 3eTEROT FT B

/<3 Only conclusion 2 follows.

Faer fshs 1 3eTERoT FT B

#<4 Only conclusion 1 follows.
Q75 farafaf@d # & fFa &1 sF1S, For I SHE & A g?

Which of the following has the same unit as energy?
def

Ans -
~ 1 Force
I

v 2 Work
Helcd

/< 3 Density
SIEG]
2{4‘ Power



